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Time : Three hours Maximum : 100 marks
PART A — (40 x 1 = 40 marks)

Answer the following questions by choosing the correct
answer.

1. banishes Duke Senior.
(a) Oliver (b) Frederick (c) Orlando

2. Phebe sends a love letter to Ganymede
through
(a) Silvius (b) Touchstone (c) Jaques

3. Rosalind and Celia take with them
to Arden.
(a) Jaques (b) Touchstone (c) Orlando

4, Duke Senior goes back to the at the
end.

(a) jail (b) court (c) forest

5. Orlando saves Oliver from the

(a) Lioness (b) Leopard (c) Tiger



10.

11.

12.

As you like It is a

(a) Romantic comedy (b) Farce (c) Tragedy

Rosalind says that she would like to marry

(a) only one man (b) twenty men (c) Phebe
Jaques led an life in the past.
(a) noble (b) immoral (c) misery

Rosalind is brought in her natural dress by

(a) Hymen (b) Orlando (c) Duke Senior
falls in love with Orlando.
(a) Celia (b) Rosalind (c) Touchstone

asks Pompey’s permission to cut the
throats of the triumvirs.

(a) Menas (b) Antony (c¢) Caesar

Antony loses that Actium battle because he runs
after

(a) Fulvia (b) Cleopatra (c) Octavia
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13.

14.

15.

16.

17.

18.

19.

20.

Antony asks to stab him to death.

(a) Evos (b) Menas (c) Cleopatra

Cleopatra allows herself to be bitten

(a) Asps (b) Scorpion (c) Cobra

Antony’s most loyal follower is

(a) Enobarbus (b) Menas (c) Agrippa
Cleopatra’s first lover was

(a) Antony (b) Lepidus (c) Julius Caesar
Age cannot Wither

(a) Antony (b) Octavia (c) Cleopatra

Before dying, Antony warns Cleopatra against

(a) Octavia (b) Octavius Caesar (c) Proculeius

accompanied with Antony to Actium.

(a) Octavia (b) Cleopatra (c) Fulvia

Antony and Cleopatra is a

(a) Tragedy (b) Comedy (c) Tragid comedy
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21.

22.

23.

24.

25.

26.

27.

Antonio mistakes viola as

(a) Olivia (b) Sebastian (c) Malvolio
Andrew is finally beaten by

(a) Malvolio (b) Orsino (c) Toby

Twelfth Night has heroines.

(a) Three (b) Four (c) Two
Olivia marries
(a) Orsino (b) Sebastian (¢) Cesario
proposes to write a letter to Malvolio.
(a) Maria (b) Viola (c) Olivia
Feste is a link between

(a) the main plot and the sub plot (b) Andrew and
Antonio (c) the two sources of Twelfth night

Sebastian was

(a) Orsino’s cousin (b) Olivia’s brother

(c) Viola’s brother
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28.

29.

30.

31.

32.

33.

34.

Henry’s father takes the English crown from

(a) Richard II (b) Richard III (¢) Edward IV
gave tennis balls to Henry V

(a) The king of France (b) Dauphin

(¢) Westmorland

Falstaff’s heart was broken by

(a) Henry’s rejection (b) French prisoners

(c) King of France

French soldiers are killed at
Agincourt.

(a) 150 (b) 10,000 (c) 4,500

Mistress quickly dies of

(a) Venereal disease (b) heart disease (c) cancer
William gave Herry a

(a) glove (b) ball (c) watch

Name the person who admitted “I am a fool to
weep at what I am glad of ”

(a) Ferdinand (b) Miranda (c) Alanso
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35.

36.

37.

38.

39.

40.

Prospero separated Ferdinand from
(a) Miranda (b) Alanso (c) Ariel

Prospero with his daughter lives in the Island
for

(a) Two years (b) Twelve years (¢) Ten years
persuades Sebastian to kill Alanso
(a) Antonio (b) Gonzalo (c) Ariel

The Meaning of the name “Miranda”

was
(a) one to be loved (b) one to be admired
(c) one to be avoided

is prospero’s slave
(a) Alanso (b) Ariel (¢) Caliban’s mother

Gonzalo helped prospero and Miranda to
flee

(a) England (b) London (c) Italy
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PART B — (5 x 4 = 20 marks)

Answer any FIVE of the following questions in about

41.

42.

43.

44.

45.

46.

417.

48.

200 words each.

Describe the love plot of phebe and Ganymede.
Sketch the character of Orlando.

Discuss the part played by Enobarbus in Antony

and Cleopatra.

Compare and contrast the characters of viola and

Olivia.

How did Prospero spend the twelve years in the

Island?

Discuss the character of Cleopatra as a tragic

heroine.
Sketch the character of Henry V.

Bring out the importance of opening scene in the

play Tempest.
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PART C — (2 x 20 = 40 marks)

Answer any TWO of the following in about 500 words

49.

50.

51.

each.

“Age cannot wither her, nor custom stale her
infinite variety” Illustrate Enobarbur’s estimate of
Cleopatra.

Substantiate Twelfth Night as a play of love at
first sight.

Describe Caliban’s plot against prospero and show
how it is miscarried.
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